
Analiza matematyczna (MANA), zestaw 10

Używając przekształcenia Laplace’a, rozwiązać:

a)
{
x′(t) + x(t) = sin t
x(0) = 0

b)
{
x′(t) + x(t) = sin t
x(0) = a

c)
{
x′(t) + x(t) = eat

x(0) = 1

d)

 x
′′(t) + x(t) = 2 cos t
x(0) = 1
x′(0) = 0

e)
{
x′′′(t) + x′′(t) + x′(t) = 3x(t)
x(0) = x′(0) = x′′(0) = 1

Odpowiedzi:
a) x(t) = 12 sin t−

1
2 cos t+

1
2e
−t

b) x(t) = 12 sin t−
1
2 cos t+ (a+

1
2 )e
−t

c) dla a 6= −1 x(t) = ae
−t+eat

a+1 , dla a = −1 x(t) = te
−t + e−t.

d) x(t) = t sin t+ cos t
e) x(t) = et


